BRE18EICLIAFDHBRINE

TEER T SE R SRR
9H30EB12K0 0NHE
o _ {075-414-4475)
OEWHE X9 A 290 128003 B L #H) _
EES ' FEEF
35 £ — St su;%x BRhak |28 | —BERE [BKRELY
RETILE of 1f o of 3 - o 28 o0 0 0 0
ERE o 0 of 13 o s4 oo 0 0 0
thET % 0 0 of ofl 1] o 0 0 0
HILE 0 0 0 2 o] 3 0 0| 0 0
WHEEl 1| o 0 0] 166 0 0 0 0
TEE]} 0 0 0 ] 0 0 0
BE 0 0 0 1l "o 0 0 0
BEE 1 0 0 ol 97 [4} 1 0 0 0
BRE 0 0 o 2 0 0 0 0
KEE 0 0 0| 370 0 0 0 0
HEBTLED)! 0 e o st ol aali el 0 '
HAET of 0 ol 57 0 0 0 0
BiEW L. 1 0 -0 3 0 .0 0 0
5 35 EF AT 0 0 0] -5 0 0 0 "0
FRHET] 0 0 0 0 0 0 0
pwsEh] o} 0 = of: 0] 0
| &8s 0 0 0 0 0 0 0
BT ol s6|] o 12| of 0 0 ol 1| o] 333 .0
Banlm 0 0 o] 0 0 0 o| 0
SRPTHEE (2 o] B o] 0] o] ias3]iiio
k] 0 0 0| 0 0
mFE 0 A 10| 19 10| 25| 24| 186} 186
54451 -
ey Al 0 0 9 0 0 0 0
RIFHESE (R 0 of: 291 577} A 10f: 18] 10| 25| i:24) 186|186
FE™ 0 0 of 30 0. 247 0 0 0 0
BT 0 0 0 0 2 0 0 0 0
AT 0 0 0| 856 0 0 0 0
HHEIM ol 1| o 0 0 o} 0 0
HFH] 0 0 0 1 0 0 "0 4 0
AT 0 0 0] 44 0 0 1 0 0
LIER) .0 0 0 0 0 1 0 0
=kl 0 0 0] 102 0 0 0 0
|Fa R R 0 0 0 7 0 of 1 o 0
ERER -0 0 0 0 0 0 0
LS (B ol ol of 1259l ool ol 20 0
saprrcesh) 2l oo e2] 0 _2[3389| A 10| 20| ~10] 29] 24| 523 188

¥ EHROEN BBHO—BEE47E (BR - FEROESLHRED)

O BEEELR
R R ARR 17B(JL)~295|(E1)17E# KB~ ERETECERFEAL ;UE%EAW@(17E—*f;5\b5=‘ruaﬁu“_ii$aﬁﬁﬁ)
3088 RETHTHEARR




FHE « XEBE ORI

9H30H1 2RKEE

Gl A - e 2AR | B #
oLETE & IERRARE T 9 8 1 8 SEEBEIE
A ARR T B0 | A
&Y A—T 500ml ALy b b SERT LT 4
(FV>v @R : FEEREX) A 9 H 20| 7ESRICER
Bl 1,440 A A& : |
0 SuEmaT 500ml AD~Sy hat b HERT LT 4
(T FRE) b ‘ TIEERER
_ Fpbk 1,200 4K '
# Tg7— Fih—eX Fke 10,000,000 B 18 BitE
(BB LA Eﬁ%& LT
DRETE B S5 350 2 RERT T ¢
. (IR AT) ' TR —TT
| R
O e a—SwmA ) 500mk ANy ME R | sERT T4
GEETIERR) v 9 5 23| FiEEEIRAE
foklk 1,440 A& H.(A)
FHERY T ) 500ml AY-3y B b RERT T4 |
(AR TIRK) v : TIERERICER
_ o Bkl 500 A
HAGESTE () gEmis sook | 9 A 25 | ek - i
g HT) YUl 504 H Ok | FEECAEET S
| | BRI~
P FI—ET&XEY v ) s00ml AD~2v MER| 9 H 26| s - iR
(FLLGERHEX) : i B R iEEpeseEs
P h Y —=7—=X # BB 1,560 A IR
R RRX) -
T R YD oA 2= g L (D)
GRRTEEEX) ,
& == FA 5004k 9 A 27|85 54
(EnIRRRIR) H & TISE IR




